TIM SW8
“010101” |1,2,3,4,5,6]
(1="on’)



Slot 20 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SW8 =*“010101"[1,2,3,4,5,6] (1='on’)
0 1oov/ B 5000/ § 4] £ 29802 10008/ Auto 1 150V

Freq(2 ):No edges |

-~ Source ~  Slope
1 1

PJ, 21 Nov 2006



Slot 16 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SW8 =*“010101"[1,2,3,4,5,6] (1='on’)
0 1oov/ B 5000/ § 4] £ 29802 10008/ Auto 1 150V

Measurement Menu

-~ Source +4) Select: Measure Clear Thresholds
2 Freq Freq Meas ~

PJ, 21 Nov 2006



Slot 10 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SwW8 =“010101"[1,2,3,4,5,6] (1='on’)
1.00v/ @ 5000/ § 4] £ 29802 10008/ Auto 1 150V

;

Measurement Menu

-~ Source +4) Select: Measure Clear Thresholds
2 Freq Freq Meas ~

PJ, 21 Nov 2006



TIM SW8
“110101” |1,2,3,4,5,6]
(1="on’)

(110101 = 010101+0.5 ns)



Slot 20 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SW8 =“110101"[1,2,3,4,5,6] (1='on’)
0 1oov/ B 5000/ § 4] £ 29802 10008/ Auto 1 150V

Measurement Menu

-~ Source +4) Select: Measure Clear Thresholds
2 Freq Freq Meas ~

PJ, 21 Nov 2006



Slot 16 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SW8 =“110101"[1,2,3,4,5,6] (1='on’)
0 1oov/ B 5000/ § 4] £ 29802 10008/ Auto 1 150V

Measurement Menu
-~ Source +4) Select: Measure Clear Thresholds
2

Freq Freq Meas ~

PJ, 21 Nov 2006



Slot 10 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SwW8 =“110101"[1,2,3,4,5,6] (1='on’)
1.00v/ @ 5000/ § 4] £ 29802 10008/ Auto 1 150V

|.

Measurement Menu

-~ Source +4) Select: Measure Clear Thresholds
2 Freq Freq Meas ~

PJ, 21 Nov 2006



TIM SW8
“011101” 11,2,3,4,5,6]
(1="on’)

(101101 = 010101+2.0 ns)



Slot 20 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SW8 =“011101"[1,2,3,4,5,6] (1='on’)
0 1oov/ B 5000/ § 4] £ 29802 10008/ Auto 1 150V

Measurement Menu

-~ Source +4) Select: Measure Clear Thresholds
2 Freq Freq Meas ~

PJ, 21 Nov 2006
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Slot 16 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SW8 =“011101"[1,2,3,4,5,6] (1='on’)
0 1oov/ B 5000/ § 4] £ 29802 10008/ Auto 1 150V

Measurement Menu

-~ Source +4) Select: Measure Clear Thresholds
2 Freq Freq Meas ~

PJ, 21 Nov 2006
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Slot 10 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SwW8 =“011101"[1,2,3,4,5,6] (1='on’)
1.00v/ @ 5000/ § 4] £ 29802 10008/ Auto 1 150V

Measurement Menu

-~ Source +4) Select: Measure Clear Thresholds
2 Freq Freq Meas ~

PJ, 21 Nov 2006 12



Timing difference between
LHC CIlk on different
Channels on the MRODX
Module

(Measured at via pin AG16, 1C1004, 1C3004, IC5004 and IC7004)

PJ, 21 Nov 2006

13



LHC CIlk1 (Ch 1, yellow)
LHC_CIlk2 (Ch 2, green)
0 1oov/ B 100v/ §

Freq(2): 40.161MHz | Freq(1): 40.000MHz

]

-~ Coupling ~  [mped
DC 1M Ohm

BW Limit
_

3 29.80¢

Vernier

Ll

10.008/

Auto

Invert

Ll

il 1,50V

Probe
~-

PJ, 21 Nov 2006
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LHC CIlk1 (Ch 1, yellow)
LHC_CIk3 (Ch 2, green)

g 100v/ @ 100v/ B B

(X

Freq(2 ). 40.000MHz

| Freq(1): 39.841MHz

]

-~ Coupling -
DC

Imped BW Limit
1M Ohm o

3 29.80¢

Vernier

Ll

10.008/

Auto

Invert

Ll

TR 1 |

1.50V

Probe
~-

PJ, 21 Nov 2006
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LHC CIlk1 (Ch 1, yellow)
LHC_CIk4 (Ch 2, green) (Note there are no components for MROD-In 4)
0 1oov/ B 100v/ § a £ 2980z 10008/ Auto M 1,50V

o

Freq(2): 40.000MHz | Freg(1): 40.323MHz |

-~ Coupling BW Limit Vernier Invert Probe
DC _| L _ ~

PJ, 21 Nov 2006 16




TTC _n(0) (measured at IC3004 pin AK23; Ch 1, yellow)
LHC_ CIlk2 (measured at IC3004 pin AG16; Ch 2, green)
g 100v/ @ 1.00v/ § 4] £ 29802 10008/ Auto 1 1.50V

o

Freq(2): 40.486MHz | Freqg(1):No edges

-~ Source ~  Slope
1 1

PJ, 21 Nov 2006 17



TTC _n(0) (measured at IC3004 pin AK23; Ch 1, yellow)
LHC_ CIlk2 (measured at IC3004 pin AG16; Ch 2, green)
g 100v/ @ 1.00v/ § 4] £ 29802 10008/ Auto 1 1.50V

o

Freq(2): 39.841MHz | Freqg(1):No edges

-~ Source ~  Slope
1 1

PJ, 21 Nov 2006 18



TTC _n(0) (measured at IC3004 pin AK23; Ch 1, yellow)
LHC_ CIlk2 (measured at IC3004 pin AG16; Ch 2, green)
g 100v/ @ 1.00v/ § 4] £ 29802 10008/ Auto 1 1.50V

o

Freq(2): 39.841MHz | Freqg(1):No edges

-~ Source ~  Slope
1 1

PJ, 21 Nov 2006 19



TTC _n(0) (measured at IC3004 pin AK23; Ch 1, yellow)
LHC_ CIlk2 (measured at IC3004 pin AG16; Ch 2, green)
g 100v/ @ 1.00v/ § 4] £ 29802 10008/ Auto 1 1.50V

o

Freq(2): 40.000MHz | Freqg(1):No edges

-~ Source ~  Slope
1 1

PJ, 21 Nov 2006 20



TTC _n(0) (measured at IC3004 pin AK23; Ch 1, yellow)
LHC_ CIlk2 (measured at IC3004 pin AG16; Ch 2, green)
g 100v/ @ 1.00v/ § 4] £ 29802 10008/ Auto 1 1.50V

o

AX = 3.600ns | 1/AX = 277.78MHz | AY(1) =-3.738V |
~  Mode -~ Source )4 Y 4+ Xl X2 X1 %9
MNormal 1 v | 20.200ns 23.800ns

PJ, 21 Nov 2006 21



TTC _n(0) (measured at IC3004 pin AK23; Ch 1, yellow)
LHC_ CIlk2 (measured at IC3004 pin AG16; Ch 2, green)
g 100v/ @ 1.00v/ § 4] £ 29802 10008/ Auto 1 1.50V

o

AX = 3.600ns | 1/AX = 277.78MHz | AY(1) =-3.738V |
~  Mode -~ Source )4 Y 4+ Xl X2 X1 %9
MNormal 1 v | 20.200ns 23.800ns

PJ, 21 Nov 2006 22



Seems that the PDU16F device is not lineair with the switch settings of SW8
Specially SW8(6) = MSB does create a big step (12.5 ns)

Optimal Setting:
TIM SW8 =*%111110" (31) [1,2,3,4,5,6] (1=on’)

PJ, 21 Nov 2006 23



Slot 10 Measured at P3 (Ch1=Pin31d, Ch2=Pin18d, Gnd= Pin12d)
TIM SW8 =“111110"[1,2,3,4,5,6] (1='on’)
0 1oov/ B 5000/ § 4] £ 29802 10008/ Auto 1 150V

AX = 3.600ns | 1/AX = 277.78MHz | AY(1) =-3.738V |
-~ Coupling ~  [mped BW Limit Vernier Invert Probe
AC 1M Ohm o | o ~

PJ, 21 Nov 2006
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